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Precalculus Name: KEY
1.7 Practice (Groupwork) Period: Date:

1. The graph of y = f(x)is given in Figure 5.8. The graph of each function in parts (a) — (d) resulted from translations
of y = f(x). Give a formula for each of these functions in terms of f(x).
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2. Let y = fix) be given by the graph below. For each of the following functions, choose the letter (a) — (i) corresponding to

the graph. vertical Re£lect over .
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Y= -£ix) -|

3. Figure below shows a function y = flx). Match each formula with a graph from (a) — (f).
(Vi) y=-1-fx)
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4. Identify the parent function and describe the sequence of transformations. Sketch the graph for each

d functions. NO CALCULATOR.
3(x) b). f(x)=|2-1]+3 ¢). f(x)=-3T-x

- ¥ See work on Next Pg ¥

of the transfor
g:"-a). f)=02x)}+

e). f(.\‘)=2+\/; f). ./'(x)=3—é(.\'+l)3

¥ See WorRK 6N NeEXT Pg ¥

d). f(x)=-2 II\]I
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O @ 0B
b). f(x)=2-x[+3 = |-x+2|+3 = |-(x-2)| +3
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e). f(x):2+J;r = ':{'X 42

O &
px) = VX
x|y 200 | Yt2 @ Horizontal Sivetth by 2
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q|3 ¢
X
® 0,0
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P(x) = x>
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